Potencias de 10 (G)

0,273 +100

4,11 -+1000

8,482 +100

2,939+ 10

8,577+100

8,262 = 10

0,643 100

2,989 =100

1,014 =+ 1000

2,128 = 1000

Calcule los siguientes cocientes.

7,679+ 100

5,046 = 1000

1,242+ 10

7,056 + 10

7,547 =100

3,866+ 1000

9,468 - 100

2,686 1000

7,542+ 10

0,917 + 1000
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Potencias de 10 (G) Respuestas

0,273+ 100
0,00273
4,11+ 1000
0,00411
8,482+ 100
0,08482
2,939+ 10
0,2939
8,577+ 100
0,08577
8,262 + 10
0,8262
0,643 + 100
0,00643
2,989 + 100
0,02989
1,014 = 1000
0,001014
2,128 + 1000
0,002128

Calcule los siguientes cocientes.

7,679 = 100
0,07679
5,046 -+ 1000
0,005046
1,242 +10
0,1242
7,056+ 10
0,7056
7,547 = 100
0,07547
3,866 - 1000
0,003866
9,468 + 100
0,09468
2,686 - 1000
0,002686
7,542 +10
0,7542
0,917 = 1000
0,000917
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